WD TIVRIDT YR DRI n1M92 noon WM AT TINHY Yy pT

31.1.6; 6b (ry pp 1752 517 7717) 2 7b (82217 82211 7R)

7, 73702:'N7 DI 172 NYR POPR DIYN DRI NAND YY PR DNT NR DD YTP NTON KD 19 7932 I8 2D 7922 IR 9% 1902 98 .
7,47 %777:02% RIN RNV 07790 1PR DDA RIN 173 NPYN 2D Y00 NR NDPIAN 201907 N30 201N 1IRN XY NT Ny I8 .
7,7 07137:09Y DY) DIV NV W YIRA YR NN DRT .

N2,8 077 PIRD DY 102 M2 P23 YYnNn DY 19 K89 YR YIIR HY 1200 939D PIY Y50 10IRA Nr N8 R .

I xpria:if a ewe births a goat-like kid or vice-versa — nmv9; if it has some similarities to the mother
a  p’mif it has some similarities to the mother — na»n
b "1 head and majority of body must be similar to mother
i Question: does w" have the same requirement for permissibility of eating?
1 Lemmal: re: 1131, we have v. 1 which raises requrement of similarity, but v. 2 only prohibits “pure” 9
2 Lemma2: the requirements are the same
ii  proposed solution: kn»1a (which must be w™) — if a N v Nnna births a nknv-looking animal, N%2R1 NOR
1 but if: head and majority of body look like mother — 7171321 27n
2 evidently: w™" is satisfied with 12171 7w& for n%ax as well
3 rejection: he only reckons that for n11211 29N
(a) support: in the R0, he “abandoned” n%»aR MR and mentioned N1 2N
(b) rejection: he also allows for it n9’28%; he mentioned 17131 due to v. 1 — 8™0 it must be fully or> - 5"np
iii  proposed solution: Xn»1a — dispute »"1/8™ re permissibility of eating hybrid of nmnv and rno
1 »”2 only if both are v (per v. 3), even if it looks somewhat Xnv (only 1 jm°0) — per v. 2
2 N”7 the text is coming to extend permission — even if father is xno
(a) note; they refer to the young as 8nv (like ™) but permit eating (proof that his standard is relaxed)
(b) rejection: they agree with him about definition but are more lenient about permissibility of eating
3 note: some read this Xn»11 and challenge from 5”2 — mixes (including 8nv/nMNY) can’t breed
(a) defense: referent is calf with cloven hooves, per v"
(i) mnote: if so, we see that v allows them to be eaten
(i) defense: this Rin agrees with him about definition, more liberal re: eating
iv  observation: seems as if X" holds that D9 nn nr is permitted; ywi 7 holds that it is forbidden
1 however: we find the opposite (n:1 n71n) — 8" prohibits that offspring of a namv (father) to the narm
2 answer: usually 8" holds that 170X 7 1”11, but in our case, the extra word nw expands
(a) and: Yoy 7 usually holds amn o7 11, but the use of ®wa) and w1y indicates both parents
Vv Kn732w™ reads Y03 Ym as disallowing a full camel and one born of a cow, unless a majority and head are like n79
I Further analysis of mwn — anything that comes from a Xnv is x&NO
a  Question: asked of v™ —is donkey 0’9310 permissible? (i.e. as XRnoON 10 R¥Y)
i Note: not asked about other equines, as their urine is clear, wouldn't be confused with milk, unlike 1vn
ii  Clarification of question: is it catalyzed by body (>170R) or "water in-water out” (>9mn)? (cloudiness from body heat)
iii  Answer: from our nMwN, notes 8NV 1 — and this is also RNV~ 1N (i.e. looks like milk >7oR)
b Alternate version: they didn't ask about horses/camels — as no one drinks it; people drink donkey's 931 ' (for jaundice?)
i Answer: from our nwn — since it comes from XNV animal, it is forbidden
¢ Challenge: n:X M1 RNAVIN (var) — reason that bee's honey is permitted is that it goes through their body, not from it
d  Defense: ™ holds like apy '3, who sources the an’n for bee's honey in v4 — only body, not by-product of 910 p7v is OR
i Exception: permission does not extend to wasp or cicada honey
ii  Reason: bee's honey is just called "wa1", without a modifier
iii Note: opinion that these honeys are "17nv” and may be eaten is contra apy> '
1 770 implying that it requires intent (to be used as food) for Py, NNV nYap
2 Inference: 1127 W17 does not require intent (supporting xn»11)
e anmpn’7 25 chunks that come from the womb of a fallow deer; students proposed that they are like eggs (=110R)
i N790 ’7. they are semen from gazelles (who couldn't mate with does)
f  &17 7 the cowl of the donkey is permitted — it is just a secretion and not part of the mother
i ~7DM /7 support from Rn2 - same with human, whether alive or dead —is 0o
1 Assumption: regardless of whether newborn and mother are both alive or both dead?
2 Rejection: means — as long as one of them is alive
3 Block: xn»a explicitly declares mnv even if both are dead.
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